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3. What are the characteristics of a good method
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of wage payment ? Discuss the merits and

demerits of time wage system and piece wage

system. 4+8+8
B. COM. (GENERAL) 4. The production department of a manufacturing
organization furnished the following
Term-End Examination information for June 2020 : 20
December, 2021 ? Hours
Materials used 60,000
BCOC-138 : COST ACCOUNTING .
Direct wages 48,000
Time : 3 Hours Maximum Marks : 100 Overheads 38,000
Lab h ked 38000
Note : Answer any five questions. All questions abour hours worke
Machine hours worked 32000

carry equal marks.

For an order executed by the department

during June 2020 the relevant data is as
1. Define costing. Differentiate between cost

follows :
accounting and financial accounting. 4+16 3 Hours
: : Material d 6,500
2. What is meant by inventory control ? What are aterials use
Direct wages 3,500
its objectives ? Describe any two techniques of
Labour hours worked 3500
' t trol. 4+8+8 .
HHIVEREORY CORKLS Machine hours worked 2500

P.T.O.
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Calculate the overheads chargeable to the job :
(1) Direct material cost method
(1) Direct labour cost method
(111) Labour hour rate
(iv) Machine hour rate
(a) In a factory 25000 units of product X were
prepared in the month of July 2020. From
the following figures obtained from the

costing records, prepare a cost sheet

showing the total cost and cost per unit: 5

3

Direct Material consumed 2,20,000
Direct wages 1,50,000
Other direct expenses 45,000
Factory overheads 75,000
Office and  Administrative

overheads 65,000
Selling and Distribution

overheads 65,000

P.T.O.
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(b) State the causes of difference between

profits shown by financial accounts and

profits shown by cost accounts. 15

Explain the term ‘Contract Costing’. What are
its features ? Differentiate between Job costing

and Contract costing. 4+8+8

In a process 1500 units were introduced at a
cost of ¥ 15,000. The additional expenditure
incurred was ¥ 5,000. From past experience and
technical estimates a normal loss equal to one
fifth of the input is expected which has scrap

value of ¥ 1 per unit.

The actual output for the period was 1000
units. Complete the process account and show

how abnormal loss will be treated in accounts.
20

Write short notes on the following : 5x4=20

(a) Joint products and byproducts

(b) Service costing

(¢) Fringe benefits

(d) Time keeping
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BCOC-138 3. TR WM &t st fafy &t @ fawivmnd
g ? UUYMER 3R FEFER TeRd Usfad @
&, |, ( E@E=) Mo 3R 2 1 e FifeT 4+8+8
e uder 4, Tt faiv yfaem & sara faam 3 S 2020
% fou f=fafead e &3 . 20
few=r. 2021 S
N U2
SEeN H -138 : ANTd @ik e 60.000
gag : 3 HUe Afermaq 37 ¢ 100 Tega TeTEd 48,000
_— ) : TRy 38,000
qie : =l uler g9 % I SIf9Ql 94 g9 &
TeTedR TS W S 38000
3T% 9EH &l
Tefe s w1 ST 32000
. o feie 1 e e e S 2020 ¥ FeEfed Tk SR § mEfud s
3R fodg oM@ § &g o) faf@ul 4+16 frefafaa o -
. 3 U
2. Wi fEEw &1 F e ® 2 TR H e
I ST SUHEET 6,500
g 7 wiw fro & fe=l v fafl w1 aofs st Tk 3,500
SIS 4+8+8 T I 3500
w3l =2 1 ST 2500

P.T.O.



[7] BCOC-138

Sitg & fou suferai &1 7ot i .

() T gt wrra fafy

(i) e Heredl e fafy

(iii) HSEY HUL &

(iv) | =0 &

() frdt el § Serg 2020 W fRE SR w1
25000 SHTEAT 1 IcAEA g1l AR R
frid @ frefafaa ke 9w g@ @
YR W e o[ AR gfa gfe @rmd

<9Iid B0 @ e dUR wifsu 5
3
TR FET HT ST 2,20,000
FeIE Al 1,50,000
= g wH 45,000
B Sufe 75,000
stifre iR weTEfTE ST 65,000
farsra oiR faeror suftes 65.000

(@) fada @@l g’ ff@m T oY T ard
@ g fSEm T ey § <R & RN

&1 Secid HIfST| 15

P.T.O.
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31 ora fAuior w1 o1 Ty wifSul 39
=1 fagiwad € ? Suswr o frufor fafy ek
31 arra faufo fafy o R T Fifsm)
4+8+8
fodt gfsham ¥ 2 15,000 &1 @M@ T 1500
THISAl H1 3TAN fohan T 39 R sfaRed =9
Z 5,000 o fusel ewE 3R dehiehl MR W
R 22 M e 1 1 e | s e 2T

1/5 97 @9 8 9l § forae © A #1 0ol
3 1 9fd zTE B

T 9T H 1000 THEA HT ardiaeh  Scded
g3 Wiehal @i daR RIS SR T8 T
sifse fh o o SEEH 819 1 SHESH
fhg YR foman smam) 20
frefafaa W Gfira fewforr fafee @ 5x4=20
() TFH IR AR IR

(@) Fal @ FHERo

() S

(91 T e
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